
CARRIAGE BOLTALUMINUM EXTRUSION

ULTIMATE BUNK BOARD

FLAT WASHER
EXISTING BRACKET

LOCK WASHER

HEX HEAD NUTS

CARRIAGE BOLTS FLAT 
WASHERS

HEX-HEAD NUTS

SUPREME MOUNT INSTALLATION INSTRUCTIONS

IK-301 HARDWARE KIT 

LOCK 
WASHERS

SLIDE CARRIAGE BOLTS DOWN BOTH GROOVES 1.
FOR THE NUMBER OF MOUNTING BRACKETS
POSITION THE BOARDS FOR THE PROPER 2.
ALIGNMENT, ALLOWING THE CARRIAGE BOLTS 
TO SLIP INTO THE HOLES IN THE BRACKET.
FASTEN FLAT WASHER, LOCKWASHER AND NUT 3.
TO THE BOTTOM SIDE OF THE BRACKET  AND 
SECURELY TIGHTEN.

HOLES IN BRACKET NEED TO BE
ON 2" CENTERS DRILL A NEW HOLE,
IF NEEDED.

HOLES IN BRACKET NEED TO BE
ON 2" CENTERS DRILL A NEW HOLE,
IF NEEDED.

 2.00 

BOARD 1
BOARD ALUMINUM ESTRUSION 1
5/16-18x1" S.S. CARRIAGE BOLT 2

5/16 S.S. WASHER 2
EXISTING BRACKET 1

5/16 S.S. LOCK WASHER 2
5/16-18 S.S. HEX NUT 2

UBB-MOUNTCHANNEL-SUPREME

SHEET 1 OF 1SCALE: 1:5

INTL. JL 8-30-175974 US HWY. 129 N. UNIT O
PENDERGRASS GA. 30567


	Sheet1
	Drawing View1
	Drawing View2


